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| | E#B41|118455008012400 | 125200 mHER FE=HH 133 82. 1 85,2 83. 4 79. 4
2 |&ZFEFE|104595410021242 | 125200 s HER El3e =] 194 86. [ 84, 3 85,4 . 9
3 |%# 8| 105585130119235 | 125200 sHER =k 198 0. b 86. 2 78. 1 69. 6
4 |FEXF(|103455210013033 | 125200 anHEE FEzHH 154 87. 0 89,2 38, 1 69, 4
5 R |102845210610841 125200 hHEE FE=HH 190 79. 0 86. 8 §2.9 69, 2
6 |SF#F| 104875000121542 | 125200 aHEE FE=HH 186 82, 0 89. [ 85. 5 69,1
7 |%85%| 103355000917734| 125200 sHER =k 192 76. b 85. 2 80. 6 69. b
8 A | 104875000121416 | 125200 nHEE Elae =k 189 76, 0 36. 8 1.4 68. 5
0 |FF&E| 105935452115214| 125200 AHER FE2-HH 158 77. b 86. 4 81,7 63,
10 | SHMiT | 896425000000442 125200 miEE JE=HH 195 66, b 83. 0 T4, 5 67.9
11 |##%E | 102845210610824 | 125200 mHER FEzHH 134 0. [ 8a. [ 3. [ 67. 8
12 |3Kale | 100565050121057 | 125200 hHEE JE=HH 179 82,10 84, 3 3.4 66. 8
13 | PFF| 104595410021 360 125200 nHEE FE=HH 178 79. 0 8. 8 3.9 66, 7
14 |A#EE | 104755125200913| 125200 G HER FE=HH 184 75. B 83. 2 79. 1 66. 7
15 | BF |1059115006205012 125200 mHERE FE=HH 174 85, 0 8.7 86. 6 66, §
16 |EF&FE|103355000915623 125200 miEE JE=BH 1748 78. 8%, 4 83,7 66,5
17 |F#riE | 1023455210012310 | 125200 s B FE=HH 178 79. 0 86. & 82,8 §6. 4
18 | ¥ |104035125200724| 125200 mHER FEzHH 172 8a. [ 8. 4 7.2 66. 3
19 | Fé |105115006205036 | 125200 ndEE Elaed= 173 78. 0 93. 0 85,5 66, B
20 [#H48 )1 | 105115006205057 | 125200 s HE FE2HH 178 79, 0 86. b 82,5 65. 8
21 | E, | 105115006204886 125200 nHEE FE=HH 174 78, 89, 8 §3.9 65, %
22 |EEF|105205666600016 125200 hHEE FE=HH 130 T4, [ 84, 2 79. 1 65,7
3 | #FE8 | 105115006101485 125200 mHERE JE=HH 183 67. 0 86, 2 6. 6 65,7
24 | BE{F| 104875000136212 | 125200 aHER FE=HH 177 76, [ 85. 6 80, 3 63,5
25 |FHEF| 104595410020710 125200 mHER 3 A= 177 77. 0 84, 4 80, 7 65,5
26 B &N |104875000121329 | 125200 mHER FEzHH 175 7. [ 87. 4 82,2 65. 5
27 |*=45.M,| 100015000321995 125200 ndEE Elaed= 173 79, [ 8. 4 83,7 65,5
28 |FETAAHE| 10933543251 7877 | 125200 ndEE Elaed= 175 76, [ 8.2 82,1 £3. 5
20 |E£E|104595410020282 | 125200 P E FE2HH 171 82,0 87. 6 84,8 65. 1
30 |#—£|100015000320745 | 125200 AHER =B 170 84, [ 86. 6 85. 3 63. 3
31 |3 | 104595410020160 | 125200 G TR FE=HH 175 78. D 84.4d 81,72 65.
32 | £ |102845210610854| 125200 nHEE JE=BH 171 81,0 86. 8 3.9 65,1
33 |EWE|102845210815502 | 125200 s B FE=HH 174 72,0 89,8 80, 9 64,9
34 |BREE|102845210614357 125200 miEE FEeHH 174 72,0 83,2 7. & 64, 8
35 |E# 7| 104595410020650 | 125200 mHER FEzHH 173 8. [ 46. 6 81,3 64,3
36 |BEA-EE| 102845210613265 | 125200 AHER g =k 180 66. b 85, 6 75. 8 64,7
37 | FEAudE| 104595410021407 125200 nHEE FE=HH 174 75, 85, 4 80, 2 64,7
38 |3kE 5| 106105125202698 | 125200 mHERE FEHH 170 76. 0 89. 8 7.9 64, 5
39 |4HFE | 896505070101024 | 125200 G TR FE2-BHl 167 81. 0 89,7 85. 1 64,5
40 | F 4545 | 104595410021029 125200 miEE JE=HH 166 84, b 87. 6 85. 8 64,5
41 |[FBER|101355009004339 125200 miEE JE=HH 170 79. b 86, 2 82,6 G4, 4
42 |EEH|105325431619221 | 125200 s B FE=HH 167 82, 0 87.8 84,9 64, 4
43 |3k g | 996375125200759 | 125200 ndEE Elaed= 156 82, 89,2 $5. 6 G4, 4
44 |3 T I | 104595410020352 | 125200 anHEE FEzHH 167 82, 0 87. 6 34, 3 64, 4
45 |#r#%|105325431919558 | 125200 G HE FE2-HH 172 75. b 86, 8 80, 9 64. 4
46 |BESF|104755125200871 125200 mHERE FEHH 169 78. 1 8.7 §3.1 G4, 4
47 |23 # | 104755125200897 | 125200 aHER =k 172 73. b 88. ¢ 80. 6§ 64. 3
48 | M+ |106355301010844| 125200 s HEE JE=HH 166 83. 0 87. 4 85,2 64, 1
49 S| 104875000121322 | 125200 aHER =k 166 84, [ 86. 4 85. 64. 3
50 |FEEf|118325125200088 | 125200 mHER FEzHH 155 8a. [ 45. % 85,9 64, 3
51 | &% | 896505070100741 125200 ndEE Elaed= 158 79, [ 88. 0 3.5 G4, 3
52 (3R | 104145125200381 125200 nHEE FEzHH 168 79. 0 87. 8 83, 4 G4, 2
53 |EE#|101185050100186 125200 hHEE e A=k 169 §2. 0 2. 6 7.3 64, 1
54 | & | 105425432322740 125200 nHEE FE=HH 168 77,0 38. % 82,9 g4, 1
55 | #4%F | 104595410020781 125200 aHER FE=HH 165 4. 0 85, 4 84,7 63. 9
56 |[#455 | 102885500006878 125200 mHERE JE=HH 170 77. 0 84, 6 80, 8 63,9
57 |#|R4k| 104035125202028 | 125200 s HE 3= 173 720 84, 8 78. 3 63. 9
S8 |4F/3R| 104035125201862 | 125200 s HEE Ejac =k 171 77. b 82, 6 79. 8 63. 8
59 | &F |104035125600240 125200 ndEE Elaed= 170 T30 38. 0 80, 5 63,8
60 | ##8%8 |104455202508938| 125200 AHER g =k 167 80, b 85,2 82, 6 63. 7
61 |#98 % | 104865115002286 | 125200 AHER FE2HH 164 83, 0 86, 8 84,9 63,7
62 |BR#A | 106345125200349 125200 nHEE FFHH 164 A1, 0 38. 8 4. 8 63,7
63 | e | 105325432119902 125200 mHEE JE=HH 164 81,0 87. 6 84,3 63, 6
64 BRf | 105045115309991 125200 nHEE JE=BH 167 78. 0 85, 1 81,6 63. 4
65 |BHT | 102865324411089 125200 i EE FE=HH 164 80, 0 87. & 83. 8 §3. 4
66 |2 [EE| 100035059104246 | 125200 aHEE FEzHH 169 78. [ 81, % 79. 9 63, 4
67 |EAH|1042150280560143 | 125200 SR B FE2HH 165 81. 0 84.4 82,7 §1. 1
68 |FHERHER | 116415211401421 125200 ndEE Elaed= 156 77 0 4, 8 0. 9 63, B
69 |fTEM| 105335432017362 | 125200 AHER g =k 165 76. b 87. 0 81, 5 63. [
70 | &4 | 103355000917737 125200 mHERE FEHH 165 77. 0 85. 8 1.4 62,9
71 | #&F | 104875000138888 125200 mHERE El3e =] 172 3. b 87. 6 75. 3 62,7
72 |FEAF| 104145125200220 | 125200 aHER =k 164 78. b 84, 3 $1.4 62,7
73 | BB | 101255000004255 125200 i EE 3 A= 165 75. b 86, 2 80, 6 §2. 7
74 |43 3F|105115006205201 | 125200 s B FE=HH 167 70, B 87. 4 78,7 §2. 6
75 | Al4f | 106025125200043 | 125200 aHEE FEzHH 174 g4, [ 82. 0 3. [ 62,5
76 | £4 | 100815044250704 | 125200 ndEE Elaed= 164 (AW 9n, 2 0. & 67, 4
77 | L3 | 104975400350542 125200 hHEE e A=k 175 61, 0 81, 4 1, % 62, %
T8 |3F4E| 104595410020414 | 125200 mHERE FEHH 168 g4, [ 89. 0 76. 3 62,2
79 |F i | 104975400348417 125200 mHERE El3e =] 166 00 86. b 8. 0 62,1
R |4 FIF | 104875000121789 | 125200 aHER =k 164 74, [ 84, 3 79. 4 62, 1
81 |&/ #|105115006205657 | 125200 aHER =k 164 0. [ 87. 8 78. 9 61,9
82 |Z#0|106985651420855 | 125200 s B FE=HH 165 73,0 82, 8 77,9 61,9
3 |EB#|100195130502644 | 125200 mHER JEHH 154 68, 0 88,2 78. 1 1.7
84 |FFELE | 103045213403143 125200 hHEE S A=k 140 85, 0 47,5 54, §
5 | 2 | 104845125225167 | 125200 G HE FE=HH 151 74, b 37. 0 53,3
86 | ®J |103605342403015 125200 hHEE FE=HH 119 51,1
87 |® | 104595410020933 125200 hHEE FE=HH 109 48, §
88 £ | 103645000006312 125200 nHEE JE=HH 197 46, b
89 | Bl | 104035125201409 125200 nHEE JE2=HH 197 44, §
00 |4H307%| 104595410021333 | 125200 mHERE Elae =k 190 44, 3
01 |3 M| 104595410021097 | 125200 anHEE Elaed= 188 43, 9
92 | Bl# |B898425000000119 125200 hHEE JE=HH 187 43, 6
93 |sk#Ek| 104875000139666 125200 hHEE FE=HH 185 43,2
04 |PRAFEE| 104595410020884| 125200 hHEE FE=HH 183 4%, 7
95 |SHFE|910245544117032 125200 hHEE FE=HH 180 42, [
96 |PEF¥E| 106105125201998 125200 nHEE JE=HH 179 41, §
07 |ZF4iR7% | 104595410020689 125200 nHEE JE=BH 179 41, 8
08 | ¥ |104035125200276| 125200 mHER JEHH 177 41,3
90 |FF 4 E | 104975400351080 125200 ndEE Elaed= 175 40, §
100 [ZFEMSE| 104755125200631 125200 ndEE Elaed= 173 4 [, d
101 [ZFEABE|106195125202823 125200 hHEE JE=HH 172 41, 1
102 | &)I| |106515125200585| 125200 aHER FE2-HH 171 39, 9
103 | %#k | 106515125200136 | 125200 AHER FE2-HH 171 39, 9
104 | £4L |105115006101503 125200 nHEE JE=HH 171 9.9
105 |#eRiF | 101265010420887 125200 nHEE 3 A= 171 9.9
106 |[fT4FE | 104875000121422 | 125200 AHER el =k 170 39, 7
107 || 106135125281106| 125200 mitE E|=E] 170 19, 7
108 |FE#45|105325432720566 | 125200 AHER Ejae =k 169 19, 4
109 |$F8% 37| 104755125200229 125200 hHEE JE=HH 169 19, 4
110 |$9FFE| 105425432422843 | 125200 anHEE FE=HH 168 19,2
111 |Bps0#|105115006205174| 125200 AHER FE2-BHl 168 39,2
112 |2 ZE% | 103195322007753 | 125200 aHEE FE=HH 168 19,2
113 |&F 5| 102845210620278 125200 nHEE JE=BH 167 19. 0
114 |[FE4|105115006101632 125200 nHEE 3 A= 166 18,7
115 |2f#:E | 104595410020320 | 125200 mHER JEHH 166 38,7
116 |BRle#|105115006205412| 125200 B FE2HH 164 18, 7
117 |ZF%|105115006205049 | 125200 anHER e =k 163 38, 5
118 |3 E# | 1045875000121438 | 125200 aHER FE=HH 165 38. 5
119 |E4fdE| 104765002420890 | 125200 AHER FE2-BHl 163 38, 5
120 |FET4F | 107185612203695 125200 nHEE JE=HH 164 18, 3
121 | #48 |105335432517876 125200 nHEE JE=BH 164 1%, 3
122 |E 48| 104875000121561 | 125200 aHER e =k 164 18, 3
123 |F 48| 104765002420713 | 125200 S HER =k 164 18, 3
124 | DA | 104145125200304| 125200 aHER E2=H 164 18 3




